3.3.L.

L3933 (MIFO0”

30136306C0L LIBIBNEM

kol bo‘jognobm gommbols  Lobydsgols
293> mo&lo _1 &‘]&80
d.1:10 a.1:5 a.1:10 — 1000X6
3 = 500
2 s L 63X5
O
R | R 1 / \
3}7 —{3 -165X6 _ 80X6
L:294\»lmhls6m\ —~_ L= 350
s \\
H N ™~
7 — 80X6
A ™~ L= 370
O O
QU] o i
— (e
= = — 80X6
}7 tﬁ 3 L= 294
27{ I\ —‘FZ
jgobdo 1 L—1| — — 80X6
L= 370
Q9000
dgd 5 — 80X6
- —20X3 L=130 Sbyods 2(3 L= 350
= f
(o))
0} AN |
o
(N8
o
J3990 E
| | d.1:10
01,60 60I 500 I60 60 50
620 L 63X5 — 1000X6 | LOX5
—_ kf.499 L= 500 — 80X6
@ @ @10 A240c ] : (=370 @10 A240c
3200 3200
33900 1-1
1.1 =2 2 2 ~ | — 60X6
9.1:10 S g o ~ co P — 60X6 = 60
25 (3% R053IBE0 56 TR g g%A £33 |98 [=60 |- 80x6
22| - 330000 553 | 238 |52 |E2 |54 — =294 |- 80X
a c < ~ c w =
hmdsgro g &« Ne (39) % - % 93 = 2 £ % g L2
£ = € ” & 13 ‘ ‘
0] 10 200 | 100 300 1X8 2.4 1.48
— 1000 X 6 500 1 X1 0.5 236 | 0.50
1 2
% — 80 X 6 370 1X 2 0.74 2.8 0.001 Q <>
€
g — 80 X 6 350 1X 4 1.4 53 0.112
e
= — 80 X 6 294 1X 2 0.6 2.2 0.05
— 60 X 6 60 1X8 0.5 1.4 0.03
L 63 X 5 800 1X 4 3.2 154
L00M60L LSIGMM TM6S 3= 52

‘dgbodgbe:

2obLoggm@gdamo gyudopwgds dogdigl
dgB™bols gansbol wogsl

59B™bo - 0.56 8 325

©33532000 8.3.U. ROT20LOL LIGFEIBLIMESM SMBIE0I
LI0C, HM®N: 20286788
TH03 ,bod5@0B0 M B0G600GIE500S
32000 BOARIBSG)
L3R dHOL IBILO
BIBOBORG ANSTIOEL0L
35030 B0BSGOILIB00) LSdSB0G)
BHOLSOBOL VISLLSRI6-3S65L0BSGO0L
CITY PROJECT 3@MIIBH0.
(1969825 MdI 33060, LILIO  |bIZMEIFI
Q0530MH0 3. 39b0JI 44— %
807, Y5d06346MED | 0. 93IEBIBITV0 ‘ {?” ‘
06306360 b, SERLULSI) | Ty 77
DIRS LHRFIAHOL VISRIDLMAOL | BIHG N
F0ML 3M6LA@IIG0IS0 65-16
LOIPN BMEHO0 | LI, BIGE 3AL3ORO 0NE0C0
365MJJ60 33 16 1:200 28.04.2017




